-

Seeres 4|

1) fx)= s = ) = Lo + (x+h) = +(x)
bhh—= o 2
= M 5’;-"’6; = Lo L :M O = O
h=o N h-=o n S )
e 2) =0

. h]—
2) Hx)=-3x — F&)= Lon paa e

_ fom T30+ — X

h—=o0 h
Qoo —BX=3h+3K _ 9., -3
h=o h h=o M
:M~3:~—3 'W\Y—(é—a‘):—g
h—=o

- R lxth) - T
5) $x)=ax™ — $(x) = e v)\ /
_ fLen 2 (x+h)*— 2ax%

—

S .

Lo 2 (x*+ahx+h?) — ax?

T h=o 9

g, &R A+ abt - ek
n-=o (4

= Lown /((’/CL(X‘]"Q\L]) - 47(4'9\@))_—3

hW—=o0 /}(

~§11Cx) =YX A —Y-(Co]: q@/ - 6




P

0.) ta)z x4 = $@)= Lon *Ci,_l__,%h~ &)

oL \/]—%o
L e e — (=x2+4)
= 2 -
. Lem — (34 2hx+h?) + A+ X3~ 4
h—= o = I
. Ln —x* ahX = h* x>
T h=o0 n
Lo ](g((-;lx-h) = T X Ao
h—->0 }/(
"F(Cx) = — X ) \(\—1(,7('):0 —> — 2QXZT o> X =0
‘ -
13) )= oo+ g — £'e)= ‘PCX”\{A &)
ol M Q(*l—{/\‘))l——QO'GLL\)—{—C[ —_ CK’L~Q2(+C?)
h->0 \,\
o Len XL ahx i — K= eh + AR+ XA
z/\""O N
:M %CQ\X+%~(¢>) C ax—( v
h—=o0 )4’




SW <{ _/
0o ~\FQ<+W £/

al) a) )= Sx* — K= 41

_ Lo 5@“’“]2 52 _ fim 5Q<+,2hx+(4"‘/ Sx2
B h—>o h T > h

Lo %zohx FSh* e

\/l—)o
%Clox+5&‘) = 10X, C.e.

7

(

—

(/\~>o

y
Do) = tox  —> SC1) = lOCz):~/O

h.) SC1) = 5C)" < 50) 28 oo (-1,5) 2

on A4
R et Vs i i g

;4 =& = —to (X~(-1)) —
-5 = 710X —-/0 —> Y:‘(OX 5

T N\l
Y=~ ox~5x

23.)a) S&x)=1=x7 — _;Qx/
Qo U=C)’) = (1= %)

= h—=>o n ,
Lim (—CX3+3?<24\+37<1/1&4-Q)'/4—X
h—>o n

Ll ‘PCX'/-W &)
W—ro

-
—



i KT 33— xR k34T

h>o h
o Lo MEaxE-sxh—h*) gz o
h—o pe )

L) = - 3x2 — +ia) = -3() s —ra
a4)a.) 4@)_ IRYE M—P@W )

hW—=0o

|
h=e T Gk
. %X‘*é\# Moz - -

T heo ik e Gthbokr (x)x 7
€ ‘\\—1(2(): .—}(E — ‘FICQ\]: b

35) )= vx —> )= S TERATW

hW=>o
— Lo | X+~ X X+h + (x
h=o 4 Tn + <
_ Qi %h)“ﬁ(‘ I N

('

26.) +x)= KILT — ‘PCX)_ Jen ~\‘-(><¢h) L (x)

i h~ o
C A G TR 4 w |
W T heo Oher) (xer) W
]




R S Lo -
oo (e )x* 1)U n=o (el ) (x+1) Jr”

i = ~ ! C. e ~§—{(?<) -
(X1 )(X+) (x+)* 7 4 - (x+1) %
30.) +(x) = X2 IXL | —= J}'(X): I;(L:m 4@#“{:‘%{/

R _&X’LMQ' 30tM)e 1] — (% 3x+1]

1

T h>o h
- Lo {ﬁ&hx+h*~%3h+%%+%/}/
h- o N *
_ fan W(aX+h—-3) .

s o W ) ad Q\Xv:))) L,e./
$x)= &x- 3 et (’~1) .

36) % *?@(/: 4)(3))5()‘4
¢‘<q): iMﬂ L lath)- £ (a) : Leon i{\(mh/{ a3
-0 h h~o 1
38.) M £(x) = Mx) Sheon
+(g)= W/K MC%*\A“)*M%




> t (I
a )
—_ o) 90~
‘0) ARC = SC;)~SOC ~ 9\0 I Jﬂ/m//M
c.) s't)-= h-;ro S(Jf*"‘kﬁ S(£)

(!

{!

——
—

44,)
a

Lo Ro @.,,L\)Q, 20 >

h=o

Lim 9\0(-\‘:9‘4—5({—%4—!42) PYVES

\(\-—70 h

Ln L5 ¢ Yo 4h + aoh? — Qo™
l’\"’o [,l

Lo /KCLIO-E + 20h) _ 4ot ie
h—o s /

slee)= w0t then
5'(1) = 4o K Thy

)

[ &1

1\S (-om.)
1o ,

[}
—

sk)= 3t- £+~

— t+ (e
5 \ )






5?) 34 g/ o X= 3
J=a-|x—3] 2
“1_ ,(lb (
| -l-/ 234 \; "
A
64) Y= [x*=3]| 7
/wo"’( ‘
WM&
a>%><:l/§; ,
X=={3 -3 V3
67.)  Cax oo X<
+0:)=
X+ ﬁmX>(
y
difperonAialle 31 /
ok X=I S R







A L

{
No NO 1 No No +
] ]
: : [} t
Loy L
] ] | !
. ! !
: ] i
! 6—-———..:__0 :
t
}
]



